< NL __—>Motordrager
<GB ___>Engine holder

< D __>Motor-Getriebemontagehilfe

< F ___>Poutre support-moteur
o Engine holder

< DK ___>Engine holder

< N___>Engine holder

TL22500A
TL22500A
TL22500A
TL22500A
TL22500A
TL22500A

TL22500A

International

SAM GROUP

2013-08

TL22500A-15

spring washer 10

TL22500A-16

TL22500A-01 Handle 2
TL22500A-02 Washer 2
TL22500A-03 Beam 1
TL22500A-04 Big Washer 2
TL22500A-05 Nut M10 4
TL22500A-06 Support seat 2
TL22500A-07 bolt M10x40 4
TL22500A-08 Bolt M20x40 2
TL22500A-09 rubber 4
TL22500A-10 support rack 2
TL22500A-11 rubber handle 4
TL22500A-12 circumvolve handle 2
TL22500A-13 pothook 2
TL22500A-14 chain 2

4

2

nut M12




	Onderdelentekening

